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CHEMISTRY
Ql. The brownish substance formed on a nail when exposed to airis __

(a) Acid
(b) Base
(c) Rust
(d) Ssalt

Sol. (c)
The brownish substance formed on a nail when exposed to air is rust. Rust is iron oxide.

Q2. A change is physical properties of substancesisa ___ change.
(a) Chemical
(b) Physical
(c) Natural
(d) Artificial

Sol.  (b)

Q3. When a hack — saw blade is held with a pair of tongs over a flame, then __
(a) It changes its colour
(b) No change takes place
(c) ltincreases inlength
(d) It melts

Sol. (a)
The colour of a hack — saw blade changes when it is heated.



Transweb Educational Services Pvt Ltd
B -147, Sector -6 Noida, UP - 201301,
www.askiitians.com

askllTians e oo 5000.53

ENGINEERING | MEDICAL | FOUNDATION

Q4. Which of the following does not represent a change?
(a) Dissolving sugar in water to make a cool drink
(b) Adding kerosene to water
(c) Formation of curd form milk
(d) Stretching of a rubber band

Sol. (b)
Adding kerosene to water is not a change as they do not mix up. In the other cases, either the
properties of the components or shapes change.

Q5. When magnesium is completely burnt in air
(a) It melts
(b) Magnesium gas is liberated
(c) A white powdery ash is formed
(d) A black mass is left formed

Sol. (c)

Q6. If a piece of iron is left exposed to air for some days, we observe thatit .
(a) Turns white
(b) Melts
(c) Acquires a brownish coat
(d) Expands

Sol. (c)
When a piece of iron is left in the open for some time, it acquires a brownish coat.

Q7. When we cut a piece of paper into four parts and then join the pieces.
(a) We can get back the original paper
(b) A design will appear on the paper
(c) We do not get back the original paper
(d) The colour of the paper will change

Sol. (c)
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Qs.

Sol.

Qs.

Sol.

Q1o0.

Sol.

Q11.

Sol.

Magnesium burns with a brilliant __light.
(a) Black

(b) White

(c) Red

(d) Yellow

(b)

Which of the following substance does not get rusted?
(a) lron gates

(b) Spades

(c) Shovel

(d) Tooth brush

(d)

A tooth brush does not get rusted as it is not made up of iron. Article made up of iron if left in

the open for some days get rusted.

When we stretch a rubber band, we observe that
(@) The colour of the rubber band changes

(b) The rubber band becomes thick

(c) The shape of the rubber band charges

(d) Heat is produced

()

Freezing mixture is made up of __
(a) Ice and sugar

(b) Water and sugar

(c) Water and salt

(d) Ice and common salt

(d)
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Q12. Which of the following is not a physical property of a substance?
(a) Shape
(b) Size
(c) State
(d) Composition

Sol. (d)
Properties such as shape, size and state are called physical properties.

Q13. Any characteristic that gives a sample of matter the ability / inability to undergo a change that
alters its composition. It is called ------
(a) Physical change
(b) Chemical change
(c) Physical poetry
(d) Chemical property

Sol.  (d)

Ql14. The process of obtaining Salt by the evaporation of sea water is known as
(a) Crystallizations
(b) Sublimation
(c) Galvanization
(d) Amalgamation

Sol. (a)

Q15. When carbon dioxide gas is passed through line water, it turns lime waterinto
(a) Milky
(b) Blue
(c) Silver
(d) Golden

Sol. (a)
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Q1l16. Dissolving sugar in water
(a) Physical change
(b) None of these
(c) Chemical change
(d) Both (a) and (c)

Sol. (a)

Ql17. Beating aluminum to make aluminum foil
(a) None of these
(b) Chemical change
(c) Physical change
(d)Both (b)and (c)

Sol. (c)

Q18. When food get spoiled, it produce foul smell this is a
(a) Periodic change
(b) Desirable change
(c) ) Physical change
(d) Chemical change

Sol.  (d)

Q19. Ozone layer in troposphere protect us from
(a) Ultra violet radiation
(b) Visible radiation
(c) Acid rain
(d)Infrared radiation

Sol. (a)

Q20. In chemical changes
(a) No new substance with different colour is formed
(b)No change in chemical properties takes place
(c) New substance with new property is formed
(d) New substance with different shape is formed

Sol. (c)



Transweb Educational Services Pvt Ltd
B -147, Sector -6 Noida, UP - 201301,
www.askiitians.com

askllTians e 18002000838

ENGINEERING | MEDICAL | FOUNDATION

BIOLOGY

Q21. Inacell, food is broken down into
(a) Sugar and energy
(b)CO; and energy
(c) CO, water and energy
(d)Water and energy

Sol. (c)

Q22. During physical exercise, muscles cells respire anaerobically because .
(a) Oxygen inhibits working of muscles
(b) Itis the usual nature of muscles
(c) Oxygen is not accessible for muscles cells
(d) The demand for oxygen is very high

Sol. (d)
During physical exercise, muscle cells respire anaerobically because the demand for oxygen is
very high, and it cannot be met by the normal respiratory process in such a short duration.
Hence, muscle cells undergo anaerobic respiration.

Q23. The process of breakdown of food in the cell with the release of energy is knownas .
(a) Digestion
(b) Respiration
(c) Circulation
(d) Excretion

Sol.  (b)

Q24. The amount of carbon dioxide present in inhaled airis ___.
(a) 3%
(b) 0.4%
(c) 0.04%
(d) 0.003%

Sol. (c)
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Q25. The taking in of air rich in oxygen into the body is called ___.
(a) Respiration
(b) Inhalation
(c) Breathing
(d) Exhalation

Sol.  (b)

Q26. Lungs are presentin___.
(a) Oral cavity
(b) Below diaphragm
(c) Chest cavity
(d) Abdomen

Sol. (c)

Q27. Duringinhalation, the ___ moves down.
(a) Diaphragm
(b) Chest
(c) Ribs
(d) Pharynx

Sol. (a)

Q28. Gills, the respiratory organs are seenin ___.
(a) Earthworm
(b) Cockroach
(c) Snake
(d) Fish

Sol. (d)

Q29. The giving out of air rich in carbon dioxide is knownas .
(a) Exhalation
(b) Respiration
(c) Inhalation
(d) Breathing

Sol. (a)
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Q30.

Sol.

Q31.

Sol.

Q32.

Sol.

Q33.

Sol.

Q34.

Sol.

Ina human body, ___ lungs are present for breathing purpose.
(a) 1
(b) 4
(c) 3
(d) 2

(d)

Cutaneous Respiration is seenin ____
(a) Cockroach

(b) Snake

(c) Frog

(d) Fish

()

The number of times a person breathes in a minutes is termed as the ____

(a) Breathing rate
(b) Inhalation rate
(c) Respiration rate
(d) Exhalation rate

(a)

Insect breath air through .
(a) Nostrils

(b) Mouth

(c) Lungs

(d) Spiracles

(d)

Organism that respires through both skin and lungsis
(a) Earthworm

(b) Frog

(c) Snake

(d) Cockroach

(b)

Frog respires though skin and Lungs. Earthworms respire only through skin.
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Q35. From the nasal cavity, air reachesour .
(a) Chest cavity
(b) Heart
(c) Diaphragm
(d) Lungs

Sol.  (d)

Q36. During inhalation, the movement of ribs increases space in our
(a) Chest cavity
(b) Oral cavity
(c) Nasal cavity
(d) Abdomen

Sol. (a)

Q37. During aerobic respiration, glucose breaks down in the presence of
(@) 02
(b) CO;
(c) N3
(d) H:

Sol. (a)
When breakdown of glucose occurs with the help of O,, it is called aerobic respiration.

Q38. Inthe absence of oxygen, glucose is broken down in muscles cells during heavy exercise and
forms
(a) Ethyl alcohol
(b) Malic acid
(c) Lactic acid
(d) Acetic acid

Sol. (c)
During heavy exercise in the absence of oxygen muscles respire anaerobically and glucose is
broken down to form lactic acid and energy.
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Q39. Duringinhalation, the __ - move(s) up and outward.
(a) Diaphragms
(b) Ribs
(c) Pharynx
(d) Trachea

Sol.  (b)

Q40. __ Respirationis seenis insects.
(a) Cutaneous
(b) Tracheal
(c) Pulmonary
(d) Bronchial

Sol.  (b)

PHYSICS

Q41. A car moving along a straight road is an example of ___ motion.
(a) Random
(b) Circular
(c) Rectilinear
(d) Periodic

Sol. (c)
A car moving along a straight rode is an example of rectilinear motion. When a body moves on a
straight on a straight line path, its motion is said to be rectilinear motion.

Q42. The motion of a body in a circular path is known as ___ motion.
(a) Rectilinear
(b) Circular
(c) Periodic
(d) Random

Sol. (b)
The motion of a body in a circular path is known as circular motion.
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Q43.

Sol.

Q44.

Sol.

Q45.

Sol.

Which of the following is correct?
(a) Speed = Mass x Time

(b) Time = Distance x Speed

(c) Speed = Distance / Time

(d) Distance = Speed / Time

()

Speed is the distance travelled by the body in unit time. It is represent as, Speed =

If the speed of a body moving along a straight line keeps changing, it is said to possess
motion.

(a) Uniform

(b) Periodic

(c) Non—uniform

(d) Circular

(c)
If the speed of a body moving along a straight line keeps charging. It is said to possess hon —
uniform motion.

The symbols of all units are writtenin ___.
(a) Plural

(b) Capitals

(c) Singular

(d) Smaller

(c)

The symbols of all units are written in singular. For example, we write 50 km and not 50 kms.
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Q46.

Sol.

Q47.

Sol.

Q4s.

In the given graph, MN denotes .
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(a) Distance

(b) Displacement
(c) Time

(d) Speed

(c)

In the given graph MN is parallel to the x — axis, which denotes time.

The distance — time graph of a body in uniform motion is alwaysa .
(a) Straight line passing through origin with some slope

(b) Smooth curve

(c) Line parallel to distance axis

(d) Zigzag curve

(a)
The distance —time graph of a body in uniform motion is always a straight line passing through
origin with some slope.

From the given graph, the speed is calculated to be ____ kmph.

T »
Y-axis

-~

éM ------ :NT




askllTians

ENGINEERING | MEDICAL | FOUNDATION

Transweb Educational Services Pvt Ltd
B -147, Sector -6 Noida, UP - 201301,
www.askiitians.com

Email: info@askiitians.com

Tel: 1800-2000-838

Sol.

Q49.

Sol.

Q50.

Sol.

Q51.

Sol.

(b)

As, Speed = distance / time
From graph, S=MN / NP

S =10 km/2h

S =5 kmph

In a distance- time graph, the horizontal axis represents .
(a) Distance

(b) Speed

(c) Velocity

(d) Time

(d)

The number of axes required to plot a graphis
(a) One

(b) Two

(c) Three

(d) Four

(b)

A person has to travel in his vehicle to cover a distance of 15 km in 20 minutes. The speed with

which he has to travel is____ kmph.
(a) 35
(b) 54
(c) 53
(d) 45

(d)
Given, distance to be covered by the vehicle is 15 km
Time take, t =20 min

0O —Q@oi
As, speed = distance/ time
t Speed with which the person has to travels, S = ——

=45 kmph
Therefore, the speed with which the person has to travel is 45 kmph.
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Q52. Which of the following graph is showing a truck moving with varying speed?
(a)

Y-axis
£
g
&
a
Time (min)  X-axis —
(b)
Y-axis
£
o
g
a
Time (min)  X-axis —s
(c)
TJL
g
A
g
H
E
=
Time (min) X-axis —;
(d)
Y-axis
£
g
%
E .

Time (min) X-axis —s

Sol. (c)
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Tn
|
A
g
¢
A

Time (min) X-axis —p

Represents the varying speed of a truck. Other graphs show the truck is moving with constant
speed, which are represent in the form of a straight line.

Q53. The distance time graph for the motion of 4 vehicles A, B, C and D is represented below. Then
the fastest moving vehicle according to the given graphis ___.

A

I A

Y-axis

Distance (km)

v

Time (min) X-axis —

(@) B
(b) C
(c) A
(d) D

Sol. (c)
From the graph, we observe that vehicle A is covering larger distance in lesser time than the
other vehicles, B, Cand D. Therefore, speed of A will be larger than other three, which is the
fastest moving vehicle.

Q54. The type of graph shown in the given figureisa ___ graph.

Y - axis—»

(a) Pie
(b) Line
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(c) Bar
(d) Time
Sol. (c)
The type of graph depicted in the above figure is a bar graph.

Q55. Distance travelled by a car and the time taken by it to cover that distance is shown in the table.
Which of the following graph is correctly depicting the information of the table?

5. Mo Time Distance
1 0 1]
2 I min 1km
3 2min 2km
4 Jrran Ikm
5 4 rrin 4km
] S tran Skm
(a)
Yeaxis S
= 4
£ 3
E 2
2 1
=
0123435
Time (min) X-axis —p
(b)
Y-axis S
= 4
=
= 3
22
£1
=
012345
Time (min) X-axis —
(c)
Y-axis 5
z 4
= 3
E 2
51
=

012345
Time (min) X-axis —p

(d)
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.I |

<
&
B

Distance (km)
-.l L Y

[=]

% 333 4
Time (min) X-axis —

Sol. (a)

The below is the correctly depicting the information of the table regarding the distance travelled
by a car and the time taken by it to cover the distance

-
Z
h

Distance (km) !’.‘—b
- W

012345
Time (min) X-axis —p

Q56. S..unitofspeedis .
(a) m/s
(b) m/hr
(c) km/s
(d) km/hr

Sol. (a)
Speed is the distance travelled by an object in unit time.
Speed = distance /time
C S.I. unit of speed is m/s.
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Q57. The to and fro motion of a simple pendulum is an example ofa ___ motion.
(a) Periodic
(b) Linear
(c) Circular
(d) Random
Sol. (a)
The to and fro motion of a simple pendulum is an example of a periodic or an oscillatory motion.

Q58. The basic unit of timeis ___.
(a) Asecond
(b) An hour
(c) A minute
(d) Alight year

Sol. (a)
The basic unit of time is a second. Its symbol is s. Larger units of time are minute (min.) and
hour (h).

Q59. The distance covered by moving body over time is represented graphically. Speed as per the
given graphis __ m/s.

Vaaxis 12 =====

Distance (m)

(@) 1
(b) 2
(c) 3
(d) 4

Sol. (c)
AS, speed = distance/time
From graph, att=1s
Speed =3/1m/s
t Speed of the body, S=3 m/s
From graph, at, t = 2s
Speed =6/2 m/s
t Speed of the body, S =3 m/s and so on.
Therefore, the speed of the body as per the graph is 3 m/s.
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Q60. Inthe given graph, PN denotes .

A
Y-axis ) N

- 1

s :

e 1

v

c 1

S 1

z =
# X-axis — 4

+——Time ——
(a) Distance
(b) Velocity
(c) Time
(d) Speed

Sol. (a)
In the given graph PN is parallel to y axis, which denotes distance.



